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QUESTION 1

A developer is asked to determine which Web services approach is correct for a new project. A SOAP-based Web
service must be created and deployed in an environment where many customers will use it. These customers will be
responsible for developing their own clients, based on the published WSDL. Which approach is correct to use first in this
situation?

A. Java, because the WSDL generated later will be more accurate

B. WSDL, because the service and customers can benefit from the strongly typed schema

C. Java, because the service must be efficient to support many customers

D. WSDL, because tools allow existing classes to be easily mapped without modification

Correct Answer: B

QUESTION 2

A developer must create a program to parse a medium-sized XML file looking for an instance of a specific element.
Once the developer has found the element, the value must be updated and saved to disk. Which two XML parsing APIs
should be used in this situation? (Choose two.)

A. SAX

B. DOM

C. StAX

D. JAXM

E. SAAJ

Correct Answer: BC

QUESTION 3

What are three characteristics of JSON Web service messages? (Choose three.)
A. provide interface contracts that are easy to enforce

B. are self-describing

C. utilize a collection of name/value pairs

D. utilize ordered lists of values

E. provide built-in message security

F. allow minimum to no coding of object de-serialization
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Correct Answer: CDF

QUESTION 4

Which statement is true about the SOAP 1.1 actor attribute?
A. Itis ignored for HTTP.

B. It indicates the recipient of a header block.

C. It indicates the final recipient of the message.

D. It indicates which recipient processes the Body element.
E. SOAP 1.1 does not use the actor attribute.

Correct Answer: B

QUESTION 5

Which three can an EJB-based endpoint use? (Choose three.)
A. HTTP sessions

B. Java EE 5 declarative security

C. Java EE 5 programmatic security

D. client-demarcated transactions

E. container-managed transactions

Correct Answer: BCE
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